77 X% FM

FREAL FZAR=% F1E (ZE28 |5838 |SBAMk |08 [FERRA > b [BohRA > b
=B 20 15| 20 12 67 67
IRBER 12 20 12 2 46 46
3|1 1 14R3E 15| 20 35 35
4| NS 8l 10 15 33 33
5| L EfE 8 6 6 20 20
6|ER ? 15 15 15
NN=HFE 12 12 12
S LEZ NN 10 10 10
9INAOTO 10 10 10
10|18 A% 10 10 10
11| R HFEM 8 8
12| 7F &Y A 8 8
13 2= 0 4 3 7 7
14| RNFE 3 4 7 7
e 5 6 8 9 7.0
7 7 24:2PD
FERIBAL FZAnR—% B (ZE28 | 5838, |SB4HL |08 |EMRA > b [BhRA > b
1|BREE 20 20 20
2| =HRE— 15 15 15
3|FHIRER 12 12 12
ShaH 0 3 0 0 3.0
77 R4:Al
FERIBAL FZAnR—% B (FE28) | 5838, |SBAML |08 |EMRA > b [BhRA b
N EEN 20 15 12| 20 67 67
2| K 12 12 8| 15 47 47
3|l v 15 10 25 25
A ERER 20 20 20
5|7k EF i 20 20 20
6|7BX—% 10 8 18 18
UPN 525 8| 10 18 18
8| & E % B 15 15 15
9FHP 6 6 12 12
10|2 v 3 6 9 9
11| B £ 4 4 4
12|/MBF5 2 2 2
13|mA0se 1 1 1
14| F e 0 0 0
15|04 ==t 0 0 0
SheH 12 6 6 2 6.5




77 XZ:A2

FEBNERL FZA1N—% BLE (28, 2538k |ZB48 |08 |FRIHRA >~ b |BAIRA b
11AQU 15 12 12 15 54 54
A EN Eb 10 15 20 45 45
3[EBE R 10 20 12 42 42
ARy IV 20 10 30 30
| L HEH 20 20 20
6|/ H = 8 6 6 20 20
TAE= 8 8 16 16
B|FRIZH 15 15 15
91+ O 4 10 14 14
10| & REBUE 12 12 12
11|BAERE 8 8 8
12|BEHEFEZ 6 6 6
13| = TaR 4 4 4
14| 1E 4 4 4
15|y €Y Ya=-— 3 3 3
16|=HFE 2 2 2
SEH 9 5 7 7 7.0
77 X4:A3
FRENERL FZA—% E1H (28 |ZB38k |48 |B0E |[ERRA b | BYMRA b
1|4 11#& 20 20 40 40
2FHE 15 15 30 30
(&L 20 20 20
A|FREE—HA 12 12 12
SEH 0 2 2 3 2.3
7 2 24:DR
FBNERL FZA—% F1E (28 B38| SB4d |BhE | FRRA b | BWARA b
1|hrEE 15 15 20 20 70 70
AR RPN 20 15 35 35
3| EEEREN 20 15 35 35
ABEE~ AL 12 10 22 22
H| R EpE 12 12 12
6|EZEF 12 12 12
T(BEARTS 10 10 10
B[ RFTE 8 8
SMEE 3 3 4 4.0




